Skill 3.1 Multiplying index expreSsions

| 2 3d*x4a

3 Sabxb? 4 6a°x2a*

5 6a*x3b 6 7a>x3ab

7 9a*x 3ab? 8 9a%* x Sab?

9 7a%b*x3ax2a® 10 9ab*X3ab X 2a*

11 4a?bx3ax4b® 12 7a*b X 8ab* X b?
Skill 3.2 Dividing index expressions

- a*p? a*b’ 5ab*
1 3 2
a’b 4p? 2ab
4 154%b° 1684%b* 9a%p*
3ab 2ab’ 184
21a°p* 121a%b 15a%p*
7 5 8 3 5
~ 28ab ab 3ab
16a°p*
30a*b -
SklII 3. 3 Slmpllfymg fractlon expresswns
a*h  a*b 4a’b? 8a
1 —X— T 2
' a b ab b
2 2,4
3 225 0a PRALANE
3b 8ab b
a’b 2ab 4a%b* a4
5 22222 6 — +—
3a 7 ‘11ab a
4a*p* @ 134%*  a*
T gt 8 +og
16a“b. b _ 6a b
SklII 3.4 Expandmg brackets with indices
i1 ( 4b3) 2 ( b4 3) 3 ( 2b3 4)
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2 6p° 3 (4a)°
2 2.3
5 a‘b 6 4agb3
ab a‘b
2 0 0
8 4a2b 9 15

Express as a product of prime factors:

2 48 3288 4 432 |
| 5 275 6 1125 7 22500 8 11664
_ Skill 3.7 Negative indices

g Skill 3.6 Prime factors
g

g; Rewrite with postive indices:

1 a2 2 a3 3 3-%
4 6-2ab-3 5 6-a%-* 6 4-%%
7 2-1g7! 8 9-23%p-4c3 9 2-3g-2p3
10 3-4¢-¢
, Sklll 3.8 Fractional indices
(a) Evaluate:
1 1 1
1 252 2 83 3 1442
1 1 1 1
4 273 5 362 — 6 1002 —10003
. 1 1 1
7 643+12 8 492 x3 9 12x21

1
10 81x2+3x8%

. (b) Evaluate using a calculator (answers given to 3

decimal places):
1 1 1
11 62 12 182 13 6x32
1 1
14 2+192 +15 15 312 x2+3

Skill 3.9 Evaluating integer powers

' Evaluate: )

L1 2443 2 W+20 3 g4
4 (R 5 (-1 6 2x3+28
7 52x 23 8 (R+222 9 (5ix2)
10 3x2¢ 11 3¢+2°

12 3242% 442




1 a 2 12 3 5ab®
4 124 5 18% 6 21a%
7 272 8 45a%° 9 4245
10 544593 11 484°%° 12 56a%¢
Skill 3.2 \ s
1 ab 2 &b 550
4 2 ,
4 2 3
5 84a 6 b 7 3a” 8 1212‘1
b 2a . 4b b
3 .
9 24 g9 8
b . 15a
Skill 3.3 :
) 5 : 3 2
1 L 2 2 38 4 3
b , b 85
A 4 9
5 111 ¢ 4”2 n ab” 8 131’3
6 6 1la 4 6a
Skill 3.4 - '
1 a%f 2 a%p8cS 3 a2
6 8 6
a %a 64a
4 b2 5 b—z 6 pé
4,8 4,2
7 1331a%° g 220 g lddab
C c
4,8
10 64a 1?)
49¢
Skill 3.5
15 2 6 31 4 1 5 ¢
6 4 715 84 91 101
Skill 3.6
1 23x3? 2 24x3 3 25x3?
4 2%x 33 5 52x11 6 32x53
7 22x32x54 8 24x36
Skill 3.7
’ 1 b b a
1 — 2 = 3 2 4
a* a’ 9 36b°
2 2.3
5 4 62, gL gad =
6b 64a 2a 81b
b 1 '
9 2 10
- 84 81c®
Skill 3.8 ,
15 2 2 3 12 4 3
5 2 6 0 7 16 8 21
9 21 10 168 :
11 2.449 12 4243 13 10.392
14 21.359 15 14.136
Skill 3.9
125 2 24 3 80 4 64
509 6 34 7 200 8 169
9 2500 10 144 89 12 29
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